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CALCOLO DEGLI SFORZI IN *
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E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =



Es.No.004CdSdC BG 04 - VI Elaborato a Casa 41717 BELLINI Matteo

@ Adolfo Zavelani Rossi, Politecnico di Milano

y,Ty

My

55

30

-30

-55

0

θ,Mt

z,N
Mx

cm

x,Tx2000

t=4

t=
6

t=4

t=
6

206

11
4.

5

A

B

C

D

CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
Mt = 99900000 Ncm
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm
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E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =



Es.No.014CdSdC BG 04 - VI Elaborato a Casa 41727 FROSIO Dario Dimitri

@ Adolfo Zavelani Rossi, Politecnico di Milano

y,Ty

My

45

35

-35

-45

0

θ,Mt

z,N
Mx

cm

x,Tx2000

t=4

t=
6

t=4

t=
6

206

94
.1

9

A

B

C

D

CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =



Es.No.016CdSdC BG 04 - VI Elaborato a Casa 41728 GRASSO Licia

@ Adolfo Zavelani Rossi, Politecnico di Milano

y,Ty

My

45

30

-30

-45

0

θ,Mt

z,N
Mx

cm

x,Tx2000

t=4

t=
6

t=4

t=
6

206

94
.2

9

A

B

C

D

CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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CALCOLO DEGLI SFORZI IN *
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = 99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =



Es.No.029CdSdC BG 04 - VI Elaborato a Casa 41708 PLEBANI Andrea

@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = 99900000 Ncm
Mx = 99900000 Ncm

My = 99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = -99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = 99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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@ Adolfo Zavelani Rossi, Politecnico di Milano
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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CALCOLO DEGLI SFORZI IN *
Mt = 99900000 Ncm
Mx = 99900000 Ncm

My = 99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = 99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =
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CALCOLO DEGLI SFORZI IN *
Mt = -99900000 Ncm
Mx = 99900000 Ncm

My = -99900000 Ncm
σa = 24000 N/cm2

E = 20000000 N/cm2

G = 7500000 N/cm2

xG =
uO =
vO =
AN =
Ju =
Jv =

Jt =
τ(Mt) =
σ(Mx) =
σ(My) =
σ =
τ =

σI =
σII =
σMISES =
σGUEST=
σID =
θt =

rU =
rV =
rO =


